Found Path from Source to Sink in the Program Dependence Graph

de.upb.pgpanda.expoapp.ClassB \
<de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)>

$i0 = $i0 + 1

DATAFLOW

de.upb.pgpanda.expoapp.ClassB
<de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)>
return $i0

DATAFLOW

parameterNode 1997862936

PARAMOUT

DATAFLOW DATAFLOW

DATAFLOW

de.upb.pgpanda.expoapp.ClassB
<de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)>

\

e

de.upb.pgpanda.expoapp.ClassB
<de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)>

de.upb.pgpanda.expoapp.ClassB
<de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)>

parameterNode 1743468260

/ D
de.upb.pgpanda.expoapp.ActivityA

<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>
$r2 = virtualinvoke $r0.<de.upb.pgpanda.expoapp.ActivityA: java.lang.Object getSystemService(java.lang.String)>("phone")

CALL

de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>
$r3 = (android.telephony.TelephonyManager) $r2

android.app.Activity

de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>
$r4 = virtualinvoke $r3.<android.telephony.TelephonyManager: java.lang.String getSimSerialNumber()>()

e

/

CALL

de.upb.pgpanda.expoapp.ActivityA android.telephony.TelephonyManager

<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)> DATAELOW <android.telephony.TelephonyManager: java.lang.String getSimSerialNumber()>
$i0 = staticinvoke <de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)>(2, $r4) -
DATAFLOW

g

- de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>

parameterNode 1730575934 if $i0 >= 2 goto return

PARAMIN

<android.app.Activity: java.lang.Object getSystemService(java.lang.String)>

ALAELOW

de.upb.pgpanda.expoapp.ActivityA

ALL

/ de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>

- I

\

de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>
$r0 := @this: de.upb.pgpanda.expoapp.ActivityA

parameterNode1714665261

de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>

return

DATAFLOW

de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>
$r1 := @parameter0: android.os.Bundle
DATAFLOW

de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>
specialinvoke $r0.<android.app.Activity: void onCreate(android.os.Bundle)>($r1)

ALL

android.app.Activity
<android.app.Activity: void onCreate(android.os.Bundle)>

de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>
$r5 = staticinvoke <android.telephony.SmsManager: android.telephony.SmsManager getDefault()>()

ATAFLOW

- de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>

de.upb.pgpanda.expoapp.ActivityA
<de.upb.pgpanda.expoapp.ActivityA: void onCreate(android.os.Bundle)>
virtualinvoke $r5.<android.telephony.SmsManager: void sendTextMessage(java.lang.String,java.lang.String,java.lang.String,android.app.PendinglIntent,android.app.PendingIntent)>("0123456789", null, "a < 2", null, null)

I

if $i0 >= 4 goto return $i0 parameterNode 1231725275 $i0 = $i0 + -1 parameterNode 1368092777 return
ATAFLOW DATAFLOW
de.upb.pgpanda.expoapp.ClassB de.upb.pgpanda.expoapp.ClassB de.upb.pgpanda.expoapp.ClassB de.upb.pgpanda.expoapp.ClassB
<de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)> <de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)> <de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)> <de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)>
$r1 = staticinvoke <android.telephony.SmsManager: android.telephony.SmsManager getDefault()>() $i0 := @parameter0: int return $i0 $10 := @parameter]: java.lang.String
\w QW CALL DATAFLOW
——
- —al—
de.upb.pgpanda.expoapp.ClassB android.telephony.SmsManager
<de.upb.pgpanda.expoapp.ClassB: int method(int,java.lang.String)> <android.telephony.SmsManager: android.telephony.SmsManager getDefault()>
virtualinvoke $rl.<android.telephony.SmsManager: void sendTextMessage(java.lang.String,java.lang.String,java.lang.String,android.app.PendingIntent,android.app.PendingIntent)>("0123456789", null, $r0, null, null) -
CALL

android.telephony.SmsManager
<android.telephony.SmsManager: void sendTextMessage(java.lang.String,java.lang.String,java.lang.String,android.app.PendingIntent,android.app.PendingIntent)>




